Fitting Through The GUI

Beside performing fits by running programs or scripts, JAS3 provides the user an easy to use GUI to quickly perform simple fits.
By right clicking on a plot it is possible to add a function to the plot by selecting the Add Function item on the popup menu and selecting a function from a
list. In the image below a gaussian is selected:
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When adding the function, the function's parameters are calculated internally using the plot's properties in order for the function to fit the screen. The user
can then change the function's parameters by moving a set of handles that appear on the function itself. Normally the handles appear as black squares on
the function's outline. When the mouse enters an handle's area, the color of the handle switches to red and the cursor changes accordingly in order to
show the type of action that is allowed on the selected handle. In the plot below the handle that controls the sigma of the gaussian has been selected; the
cursor should show that only horizontal movements are allowed:
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To perfom the fit right click on the plot and under the Fit menu item select the function to be fitted (if multiple functions are present on the plot it is possible
to choose which one to fit).
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Once the fit has been performed the statistics box will show the error on the fitted parameters and the chi square of the fit. In the figure below we have a
pretty bad fit; the plot is showing the sum of two gaussians so we should now try to add the second one, add the two functions together, fix the two means
and fit again.
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Once the second gaussian has been added to sum the two together select Sum of existing functions under the Add Function menu item on the popup
menu as shown below:
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In the plot below the sum of the two gaussians is shown in magenta:
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The result of the fit is now pretty good as shown below.
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Configuring The Fit

Through the Plot Properties dialog it is possible to configure the fit; by selecting the Plot Properties menu item on the plot's popup menu a dialog box will
appear. Select the Functions tab and on the left select the function that needs to be configured. In the picture below the sum of the two gaussians has
been selected:
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Through this dialog it is possible to choose which optimizer engine is used in the fit, control the parameters value and also fixing them by unchecking the
appropriate checkbox under the Fit column next to the parameter's name.

If the Fit checkbox in the lower part of the dialog is unchecked (like in the picture above) it meas that the fit has not been performed (or that the parameters

have been changed). To perform the fit just click on it. The status bar should show the progress of the fit. When finished the chi squared of the fit should be
provided.


https://confluence.slac.stanford.edu/display/JAS3/Fitter
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